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Q6. __________ is the synonym of "JUDGEMENTAL". 
 

A. Strong-minded B. Authoritative 

C. Critical D. Clever 

 

Q7. __________ is the antonym of "PETRIFIED". 
 

A. Fearless B. Motionless 

C. Scared D. Anxious 

 

Q8. Identify the meaning of the idiom which is underlined in the sentence. 
"If you want to live the best of your days, keep your luxuries at bay." 

 

A. Keep something away B. Keep something close 

C. Make good use of something D. Start doing something 

 

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence. 
"They were already on the station when we arrive." 

 

A. They were already at the station when we 

arrived. 

B. They are already on the station when we 

arrive. 

C. They were on the station when we arrived. D. They are already at the station when were 

arriving. 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
She will ___________ (get) you a new pair of jeans on your birthday. 

 

A. got B. gotten 

C. get D. getting 
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Q11. The government has asked Twitter authorities to comply with the provisions under the 
Indian Information Technology Act - to remove objectionable and inflammatory content - 
or else it would face action under Section 69A of the Information Technology Act. The 
punishment would be ___________. 

 

A. 6-month jail term and financial penalties B. 2-year jail term and financial penalties 

C. 7-year jail term and financial penalties D. 1-year jail term and financial penalties 

Q11. 91�?1 )O �M=?�1 �O  
=?�?र10ो䬂 �K, .?1-I0 9K�)? �LoK=?�ी 
=?=)0/ �O  �????)ो䬂 �? +?ल) �1)O �O  =ल� - �+=?�)� �1 
.=�?� 9?/्䵇I �K :�?)O �O  =ल� �:? :P - 0? =?1 9K�)? �LoK=?�ी 
=?=)0/ �ी ??1? 69 � �O  -:- �?1र??� �? 9?/)? �1)? 
+=O??। ___________ 9�? �? �????) :K??। 

 

A. 6 /AI0O �I �Oल �1 �}-?� .�) B. 2 @?ल �I �Oल �1 �}-?� .�) 

C. 7 @?ल �I �Oल �1 �}-?� .�) D. 1 @?ल �I �Oल �1 �}-?� .�) 
 

Q12. In India, states were reorganized and redefined under States Reorganisation Act, 1956. 
The states were reorganized on ____________ basis. 

 

A. Cultural B. Population 

C. Geographical D. Linguistic 

Q12. .?1- /O, 1?जᱍ0 +J)?र ) 
=?=)0/, 1956 �O  -:- 1?जᱍ0ो䬂 �K +J)?र= - �1 +J)� +र1.?=?- =�0? ?0?। 1?जᱍ0ो䬂 �K ____________ 
�O  �??1 +1 +J)?र= - =�0? ?0? .?। 

 

A. @?�}�ृ-?� B. �-?.I 

C. .L�K;ल� D. .???� 
 

Q13. Which one of the following literary works based on Valmiki Ramayana is written by 
Kalidas? 

 

A. Raghuvamsa B. Rama avataram 

C. Saptakanda Ramayana D. Ramcharitamanas 
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Q13. ??ल㉍/I=� �O  1?/?0, +1 �??र1- =)o)=ल=?- /O 9O =�9 9?=:=/0� 1�)? �K �?=ल/?9 �?1? =ल?? ?0? :P? 
 

A. 1 I=�>/ B. 1?/ 
=??1/ ्

C. @o?�� . 1?/?0+ D. 1?/�91?/?0@ 

 

Q14. One of the main proposed activity by the "Rally for Rivers" movement is: 
 

A. Stick warning posters to the trees B. Tie dogs to the trees 

C. Stick thorn branches around the trees D. Creating and maintaining tree cover for a 

minimum of one kilometer on either side of the 

entire river length and half a kilometer for 

tributaries 

Q14. "1PलI ?Q1 र1?9र" ��/Kल) �?1? �}-?=?- /J_0 ?=-=?=? /O 9O �� :P: 
 

A. +O)ो䬾 +1 �O??=0I +K}�1 ल�?0? B. �I ्䵈ो䬾 �K +O)ो䬾 @O -??/0? 

C. +O)ो䬾 �O  �?1ो䬾 �1 �?��O.?1 )?;ल0?? ल�?0? D. 0.I �I +1ूI ल�-?� �O  .K0ो䬾 ?1, �/ @O �/ ए� ��लK/I�1 
?� �1 @A?0� 0/.0ो䬾 �O  .K0ो䬾 ?1, �/ @O �/ �/? 
��लK/I�1 ?� +O) ल�?0? �1 �0�? 1�1�?= �10? 

 

Q15. Which of the following Indian film personalities has NOT won an Oscar? 
 

A. Rasool Pookutty B. A R Rahman 

C. Bhanu Athaiya D. Javed Akhtar 

Q15. =)o)=ल=?- /O 9O =�9 .?1-I0 =?ल㉍/I :}-I �K �}�1 ):K =/ल? :P? 
 

A. 1@लू +�ूI टὍ�I B. ए �1 1A/?0 

C. .?0I 
-P0? D. �?=O. 
_?1 
 

Q16. Other than Thanesar, Kannauj was also adopted by King _______ as his capital. 
 

A. Yudhistra B. Prithiviraj Chauhan 

C. Harshvardhan D. Muhammad Ghori 
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Q16. 1?�? _______ )O .?)O91 �O  
ल??? �m)L� �K .I 
+)I 1?�??)I -)?0? .?। 
 

A. 0I}/�)?1 B. +mृ=I1?� �LA?0 

C. A??=/?0 D. /IAम⹍/. �K1I 
 

Q17. Shri Bhagwat Dayal Sharma is known for being the first____________ of Haryana. 
 

A. Agriculture minister B. Chief minister 

C. Governor D. Chief Justice of Haryana High Court 

Q17. ्䵦I .???- /0?ल ?/?र :र10?,? �O  �./ _______ �O  =ल� �?)O �?-O :ै䠂। 
 

A. �ृ?? /�्䵔I B. /I_0 /�्䵔I 

C. 1?जᱍ0+?ल D. A910?+? �चᩍ� m0?0?ल0 �O  /I_0 m0?0?/I> 

 

Q18. ________________ battle of Panipat marked the beginning of Mughal Empire in India. 
 

A. First B. Second 

C. Third D. Fourth 

Q18. +?)I+- �? ________________ 0J्䵍 .?1- /O /J?ल 9?�?जᱍ0 �ी ?Jy�- �O  z+ /O =�=ि- :P। 
 

A. +Aल? B. .@ू1? 

C. ?I@1? D. �L-? 
 

Q19. The Supreme Court recently slammed the Haryana Government for allowing construction 
in the ________ region thereby deleting the forest cover in that area. 

 

A. Bhindawas B. Sultanpur 

C. Aravalli hills D. Yamunanagar 

 

 

 

 

 

 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 58, Tool & Die Maker (Dies & Moulds) Instructor 

(Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 12, 2019  Page 6 of 29 

 

Q19. 9J�I/ �K�र )O :?ल :I /O, :र10?,? 91�?1 �K, ___________ �O  �O} /O, =)/?र, �ी 
)J/=- /O)O +1 ?��?1 ल??� :P। =)/?र, �ी 

)J/=- =/� �?)O �ी ?�: 9O �9 �O} /O ��?ल �चᩍ�?/) 9/?्䵎 :K ?0? :P। 

 

A. ;.�)=?@ B. @Iल㉍??0+I1 

C. 
1?=लI �I +A?])0ो䬾 D. 0/I0?0�1 
 

Q20. Which among the following jails in Haryana is a newly constructed, eco-friendly jail? 
 

A. Ambala B. Hisar 

C. Kaithal D. Panipat 

Q20. :र10?,? /O, =)o)=ल=?- /O 9O �L) 9I �Oल �� )?=)=/र-, +0?र?1,-
)J�K ल �Oल :P? 
 

A. 
म⹍-?ल? B. /A@?1 

C. �P -ल D. +?0I+? 

 

Q21. Where was the recently (February 2019) concluded Pandit Deen Dayal Upadhyay 
Memorial All India National Style Kabaddi Championship held in Haryana? 

 

A. Hisar B. Sirsa 

C. Faridabad D. Nuh 

Q21. :र10?,? /O, :?ल :I (?1?1I 2019) /O �0K=�- +�=?- /I) /0?ल �+?o0?0 /O/Kर10ल �ल ��=?0? )O?)ल }�?�ल �-?M?I 
�ै䠂=+0)=?+ �:?? 9�+m) :ु�? 

 

A. /A@?1 B. ;@1@? 

C. ,1I.?-?. D. 0ूA 
 

Q22. According to the latest release of national rankings of Universities, under National 
Institutional Ranking Framework (NIRF) released by the Ministry of Human Resource 
Development, the rankings of Haryana Universities has ___________, compared to last 
year. 

 

A. Moved up B. Remained the same 

C. Slipped down D. Not been evaluated this year 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 58, Tool & Die Maker (Dies & Moulds) Instructor 

(Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 12, 2019  Page 7 of 29 

 

Q22. /?)? 9�9??) =?�?9 /�}?ल0 �?1? �?1I 1?�रI0 9�}.??- 1ै䠂=�� ? ्䵛O /?�र  (NIRF) �O  -:- =?्䵫=?o?ल0ो䬂 �ी 1?�रI0 1ै䠂=�� ? �ी 
)?I)-/ र1लI� �O  
)J9?1, :र10?,? �O  =?्䵫=?o?ल0ो䬂 �ी 1ै䠂=�� ? =+�लO 9?ल �ी -Jल)? /O ___________ :P। 

 

A. �+1 �0I B. �K� @I/?1 0AI� AI� 

C. 0I�O �,@लI D. �@ =?? /लू㉍0?��0 0AI� ��0? �0? 
 

Q23. Why was the village Rohnat in Bhiwani district in the news? 
 

A. National Flag was unfurled last year after 70 

years 

B. The village received electricity last year 

C. The village got its first post office last year D. The village got its first primary school last year 

Q23. =.??)I =�लO �? 1K:)?- ???? ख़-1ो䬂 /O �0K? .?? 
 

A. 70 @?ल -?., ?+�लO @?ल 1?)रI0 o=� ,A1?0? �0? -? B. �??= �K ?+�लO @?ल --�लI ;/लI -I 

C. �??= �K ?+�लO @?ल 
+0? +Aल? )?� 1 ;/ल? -? D. �??= �K 
+0? +Aल? ्䵚?-;/� }�ूल ?+�लO @?ल ;/ल? -? 
 

Q24. Lord Krishna is associated with a form of dance that describes the dance of the God with 
Radha. The dance is called ___________. 

 

A. Kathak B. Raas Leela 

C. Krshn raas D. Vrindavan 

Q24. .???) �L �, �� �9O )L/0 z+ 9O �J=O :ु� :ै䠂 �K 1??? �O  9?. .???) �O  )L/0 �? ?,र) �1-? :P। �9 )L/0 �K ___________ �:? 
�?-? :P। 

 

A. �-� B. 1?@ लIल? 

C. �ृ)+ 1?@ D. =ृ�.?=0 

 

Q25. The Masani Fair is held in the honour of the Goddess of _________. 
 

A. Good health B. Wealth 

C. Fertility D. Small Pox 
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Q25. /9?)I /Oल? _________ �ी /O?I �O  9o/?) /O �0K=�- =�0? �?-? :P। 
 

A. 
चᩍ�? }=?}m0 B. /0 

C. �+�?�+0 D. �O�� 

 

Q26. The most notable fact about Jadufiri is that it is the first ____________ written in 
Haryanvi language. 

 

A. Play B. Novel 

C. Song D. Movie 

Q26. �??K=?1I �O  -?1O /O 9-9O �ल㉍लO?)I0 -?- 0: :P =� 0: :र10?,?I .??? /O =ल?? +:ल? ____________ :P। 
 

A. 0?�� B. �+m0?@ 

C. �?0? D. �,ल㉍/ 

 

Q27. Shri Uday Bhanu Hans was conferred which title when Haryana was carved out as a new 
state in 1966? 

 

A. State father B. State leader and visionary 

C. State poet D. State author 

Q27. �- 1966 /O :र10?,? �K �� )0? 1?जᱍ0 -)?0? ?0? .? �9 9/0 ्䵦I �/0 .?)J :�9 �K �L) 9? ?I?र� =/0? ?0? .?? 
 

A. 1?�?+?? B. 1?जᱍ0 �O  0O?? �1 .1ू.>ी 

C. 1?��?= D. 1?�लO�� 

 

Q28. Shri Bishambar Nath Kaushik wrote______________ in monthly magazines. 
 

A. Poems by Kaushik B. Letters of Kaushik 

C. Letters of Dubey D. Poems of Dubey 
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Q28. ्䵦I =-?o.1 )?. �L=?� )O /?=9� +=}�?� � /O ______________ =ल?? :P। 
 

A. �L;>� द♍=?1? �?=??ए� B. �L;>� �I }�टὍ/?0?� 

C. .I-O �I }�टὍ/?0?� D. .I-O �I �?=??ए� 
 

Q29. Which state does NOT share its boundaries with Haryana? 
 

A. Gujarat B. Delhi 

C. Punjab D. Uttar Pradesh 

Q29. =�9 1?जᱍ0 �ी 9I/? :र10?,? �ी 9I/? 9O 9�I :ु� ):K :P? 
 

A. �I�1?? B. /.ल㉍लI 

C. +��?- D. �्䵈1 ्䵚.O> 

 

Q30. Haryana has four main geographical features. Identify the geographical feature that 
belongs to Haryana. 

 

A. Western ghats B. Thar desert 

C. Deccan plateau D. Yamuna-Ghaggar plain 

Q30. :र10?,? �ी �?1 /J_0 .L?K=ल� =??O?-?�� :ै䠂। �9 .L?K=ल� =??O?-? �K +:�?)O �K :र10?,? 9O 9�-�=?- :P। 
 

A. +���/I  ?� B. -?1 /y}-ल 

C. .]�0 �? +??1 D. 0/I0?- _�1 �? /P.?0 

 

Q31. Along Haryana's eastern boundary flows the ____________. 
 

A. Satluj B. Ganga 

C. Ghaggar D. Yamuna 

Q31. :र10?,? �ी +K?I 9I/? +1 ____________ )/I -:-I :P। 
 

A. @?ल� B. ���? 

C.  _�1 D. 0/I0? 
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Q32. Karoh peak is the ____________ mountain peak in Haryana. 
 

A. Lowest B. Highest 

C. Second highest D. Most difficult to access 

Q32. �?1K �ी �K�I, :र10?,? �? ____________ +?र- =??1 :P। 
 

A. @-@O 0I�? B. @-@O �� �? 

C. .@ू1? @-@O �� �? D. �?0? @-@O �/?0 

 

Q33. 44,212 square kilometers is the ___________ area of Haryana. 
 

A. Total geographical B. Total agricultural 

C. Total irrigated D. Total motorable 

Q33. :र10?,? �? ___________ �O}?ल 44,212 ??र =�लK/I�1 :P। 
 

A. �I ल .L�K;ल� B. �I ल �ृ?? 

C. �I ल ;@��?� D. �I ल /K�1 0K_0 

 

Q34. The headquarters of Mahendargarh district is __________________. 
 

A. Narnaul B. Rewari 

C. Dadri D. Nuh 

Q34. /:O�?? =�लO �? /J_0?ल0 __________________ :P। 
 

A. 0?10Lल B. 1O=?)I 

C. .?.1I D. 0IA 
 

Q35. Only the Parliament of India can remove the __________ from his office. 
 

A. President of India B. Chief Minister of Haryana 

C. Chief Election Commissioner of India D. Prime Minister of India 
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Q35. �O ?ल .?1- �ी 9�9/ __________ �K 
+)O +/ 9O :�? 9�-I :P। 
 

A. .?1? �O  1?)र+-? B. A910?+? �O  /I_0/�्䵔I 

C. .?1? �O  /I_0 �I0?= �0I]? D. .?1? �O  ्䵚/?0/�्䵔I 
 

Q36. Which one of the following is a network security system designed to prevent unauthorized 
access to or from a private network? 

 

A. Firewall B. Hacker-resistant server 

C. Hacker-proof program D. Encryption safe wall 

Q36. =)o)=ल=?- /O 9O �L) 9I �� )O�?�र  9J1�? �,?लI :P =�9O =�9I =)�I )O�?�र  9O 
)=?�L - +:ु�� �K 1K�)O �O  =ल� =?�?�) =�0? 
�?-? :P? 

 

A. फ?01=Iल B. AP�1 1O;@}�े䜂� @=?1 

C. AP�1 ्䵚,ू ्䵚K्䵇?/ D. ए�mिo>0 @O, =?ल 

 

Q37. In which of the national parks and wildlife sanctuaries of Haryana will you find sal trees? 
 

A. Kalesar B. Sultanpur 

C. Bir Shikargah D. Nahar 

Q37. :र10?,? �O  =�9 1?�रI0 �o?) �1 ?m0�I? 
.0?1o0 /O 9?ल �O  +O= =/ल-O :ै䠂? 
 

A. �?लO@1 B. @Iल㉍??0+I1 

C. -I1 ;>�?1�? D. 0?A1 
 

Q38. Gurgaon has _____________ sex ratio, but the _________ literacy rate in Haryana. 
 

A. Lowest, lowest B. Lowest, highest 

C. Highest, lowest D. Highest, highest 
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Q38. :र10?,? /O ?Jy??�? �ी _____________ =ल�? 
)J+?- :P, �1 _________ 9?�1-? /1 :P। 
 

A. @-@O �/, @-@O �/ B. @-@O �/, @-@O 
}/� 

C. @-@O 
}/�, @-@O �/ D. @-@O 
}/�, @-@O 
}/� 

 

Q39. What are the unsolicited messages sent in bulk by e-mail called as? 
 

A. Spam B. Spoof 

C. Sniffer Script D. Spool 

Q39. �-/Oल �?1? .K� /O .O�O ?� 
??�=�- 9�/O? �0? �:ल?-O :ै䠂? 
 

A. }+P/ B. }+,ू 

C. �}0,1 �}िo� D. }+लू 

 

Q40. Pick the odd one out: 
Gold, Silver, Platinum, Uranium 

 

A. Silver B. Gold 

C. Uranium D. Platinum 

Q40. =)o)=ल=?- /O 9O -O�K= �K +K�+�1 =)�?लO: 
9K)?, �?�/I, प⩍लP=�)/, 0K1O=)0/ 

 

A. �?�.I B. @K0? 

C. 01ूO-00/ D. oलP/�0/ 

 

Q41. AG: MS:: BH : ? 
 

A. LO B. NT 

C. FK D. OV 

Q41. AG: MS :: BH : ? 
 

A. LO B. NT 

C. FK D. OV 
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Q42. Look at this series: 4, 16, 256, ? 
What should come in place of '?' mark? 

 

A. 65536 B. 1536 

C. 2304 D. 60416 

Q42. �9 ्䵦L�?ल? �K /O?O: 4, 16, 256, ? 

�्䵞 =�m: �O  }.?) +1 �L) 9I 9�_0? :K)I �?=:�? 
 

A. 65536 B. 1536 

C. 2304 D. 60416 

 

Q43. In a family if Amit is the son of Priya, Priya and Tiya are sisters, Geeta is the mother of 
Tiya, Parag is the son of Geeta, which of the following statements is correct? 

 

A. Tiya and Parag are cousins. B. Amit and Tiya are siblings. 

C. Amit and Parag are Cousins. D. Parag is the maternal uncle of Amit 

Q43. �� +र1??1 /O 0=/ 
=/-, =�0? �? -O�? :P, =�0? �1 =�0? /K)ो䬂 -:)O :ै䠂, ?I-?, =�0? �ी /?� :P, +1??, ?I-? �? -O�? :P, -K =)o)=ल=?- 
/O 9O �L) 9? �.) 9:I :P? 

 

A. /�0? �1 +1?� ��O1O .?�--A0 Aै䠂। B. 
;/? �1 /�0? @AK.1 .?�--A0 Aै䠂। 

C. 
;/? �1 +1?� ��O1O .?� Aै䠂। D. +1?�, 
;/? �O  /?/? Aै䠂। 
 

Q44. 
 

 

A. 144 B. 124 

C. 114 D. 84 

Q44. 
 

 

A. 144 B. 124 

C. 114 D. 84 
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Q45. (-15)3 = ? 
 

A. 725 B. -1525 

C. 2250 D. -3375 

Q45. (-15)3 = ? 
 

A. 725 B. -1525 

C. 2250 D. -3375 

 

Q46. 40% of 60 = ? 
 

A. 24 B. 25 

C. 26 D. 22 

Q46. 60 �? 40% = ? 
 

A. 24 B. 25 

C. 26 D. 22 

 

Q47. The probability that there will be a test at school tomorrow is 0.85. What is the probability 
that there will NOT be a test tomorrow? 

 

A. 1/0.85 B. 1/0.15 

C. 0.15 D. 0.85 

Q47. �ल }�K ल /O +1I�? :K)O �ी 9�.??)? 0.85 :P। �ल +1I�? ) :K)O �ी 9�.??)? =�-)I :P? 
 

A. 1/0.85 B. 1/0.15 

C. 0.15 D. 0.85 

 

Q48. Which physical quantity's SI unit is Ohm? 
 

A. Electrical resistance B. Electric charge 

C. Electric current D. Electrical conductance 
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Q48. =�9 .L=-� 1?=? �ी �9��(SI) ��?� �/ :P? 
 

A. ?=द♍0I? ््䵚-?1K/ B. ?=द♍0I? ्�=O> 

C. ?=द♍0I? ्䵚=?A D. ?=द♍0I? �?ल�?? 
 

Q49. Which type of reaction takes place when an acid reacts with a base? 
 

A. Decomposition B. Combination 

C. Precipitation D. Neutralization 

Q49. �- �� 
oल �� �?1 �O  9?. �=-=ि0? �1-? :P, -- =�9 ��?1 �ी �=-=ि0? :K-I :P? 
 

A. 
+ �0 B. @�0K�0 

C. =??+ D. -0)्䵚.?=I�1+ 

 

Q50. Which of the following part of the eye is the main focusing element? 
 

A. Pupil B. Cornea 

C. Retina D. Iris 

Q50. ��? �O  =)o)=ल=?- .?? /O 9O �L) 9? .??, /J_0 ?K�=9�? -/? :P? 
 

A. o0?ू+ल B. �I-0?0? 

C. 1O/�0? D. ��91@ 

 

Q51. Which of the following factors will increase productivity in an Industry? 
 

A. Increase of manpower B. Decrease in quantity of raw materials 

C. Simplifying the product design D. Reducing the cost of production equipment 

Q51. =)o) /O 9O �L)9? ��� =�9I �oK? /O �/+?/�-? -?? 9�-? :P? 
 

A. ्䵦/>�]? /े䜂 -?K?1I B. �चᩍ�O @?/्䵇I �I /?्䵔? /े䜂 ��L?I 

C. ्䵚K)]� ])ज़?�0 �? @1लI�1+ D. �m+?.0 �O  �+�1+ो䬾 �I ल?�? �/ �10? 
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Q52. Which of the following steps is performed in Method Study AS WELL AS in Work 
Measurement? 

 

A. Select the job. B. Develop the most economic method. 

C. Measure the quantity of work. D. Define the new method. 

Q52. =)o) /O 9O �L)9? �?0र =?=? 
oM0) �O  9?.-9?. �?0र /?+) /O .I =�0? �?-? :P? 
 

A. �?0? �? �I0?=| B. @-@O ��,?0?I ?=}/ ?=�;@? �10?| 

C. �?0? �I /?्䵔? �? /?+0 �10?| D. 00I ?=}/ �I }0?_0? �10?| 
 

Q53. During Method Study, if a job is found to cause unrest among workers, what should be 
done to it? 

 

A. It should be taken last. B. It should be allocated more time. 

C. It should not be taken. D. It should be allocated more incentive. 

Q53. =?=? 
o00) �O  9/0 0=/ �K� �?0र ्䵦=/�ो䬂 �O  -I� 
??�=- �? �?1, -)-? :P, -K �9 �?0र �? �0? =�0? �?)? �?=:�? 
 

A. �@O ���1I /े䜂 �10? �?/Aए| B. �@O जᱍ0?.? @/0 �=�/�? �10? �?/Aए| 

C. �@O 0AI� �10? �?/Aए| D. �@O 
}/� ��@े䜂/�=(्䵚Km@?A0) �=�/�? �10? �?/Aए| 
 

Q54. Why are charts used in Method Study? 
 

A. To maintain the new method B. To examine the recorded facts 

C. To record all the relevant information D. To develop new or improved method 

Q54. =?=? 
o00) /O /?)=�}ो䬂 �? �}-O/?ल �0ो䬂 =�0? �?-? :P? 
 

A. 00I ?=}/ �? @�/?1+ �10O �O  ;लए B. 
;.;ल��? ?m0ो䬾 �? +1I्䵌+ �10O �O  ;लए 

C. @/}? @म⹍-�m/? �?0�?1I �? 
;.लO�0 �10O �O  ;लए D. 00I = @�>K}/? ?=}/ ?=�;@? �10O �O  ;लए 
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Q55. In time and motion study, there are 18 kinds of motions taken into consideration. What are 
these motions called? 

 

A. Ergonomics B. Therbligs 

C. Deflator D. Efficiency Engineering 

Q55. 9/0 ? ?=- �O  
o00) /O, 18 -1: �ी ?=-0ो䬂 �? =??O�) =�0? �?-? :P| �) ?=-0ो䬂 �? �0? �:? �?-? :P? 
 

A. ्䵦/.्䵌?? >?}्䵔 B. --?;ल� 

C. 
+},I-?�?1� D. ्䵌/?? 
;.0?�-्䵔�I 
 

Q56. What is the formula for calculating Rating factor? 
 

A. Observed Time*(Rating/Standard Rating (100)) B. Observed Performance/Normal Performance 

C. Output/Labour Input D. Net Output/ (Labour + Capital) Inputs 

Q56. /Kल㉍0?��) �?1� �ी ?,)? �1)O �? 9K} �0? :K-? :P ? 
 

A. 
=लK��? @/0*(�?1�/ @?/?m0 �?1� (100)) B. 
=लK��? ्䵚.>?0/@?/?m0 ्䵚.>?0 

C. �m+?./्䵦/ -0=O> D. >Iद♍/ �m+?./ (्䵦/ + +ू?�I) -0=O> 

 

Q57. The observed time of a worker is 0.20 minutes. He is working at a faster rate of 135%. 
Calculate his basic time. 

 

A. 0.21 minutes B. 0.27 minutes 

C. 0.30 minutes D. 0.25 minutes 

Q57. �� ्䵦=/� �? 
?लK=�- 9/0 0.20 =/)� :P | ?: 135% �ी -I}-1 /1 9O �?/ �1 1:? :P | �9�? /Kल 9/0 _?- �ी=�0O | 
 

A. 0.21 ;/0� B. 0.27 ;/0� 

C. 0.30 ;/0� D. 0.25 ;/0� 
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Q58. A worker received a bonus as he was able to achieve 66.67 percent of the standard. Which 
incentive plan was followed in this case? 

 

A. Rowan Bonus Plan B. Bedeaux Point Plan 

C. Emerson Efficiency Plan D. Halsey Premium Plan 

Q58. �� �/र�?1I -K)9 �?्䵎 �1-? :P �0ो䬂=� ?: -0 =�0O ?� /?+/�? �? 66.67 �=-?- �?्䵎 �1)O /O 9?ल 1:? .? | �9 +र1=}.=- /O 
�L)9I �K/9?:) 0K�)? �? 
)J�1, =�0? ?0? .? ? 

 

A. 1K=0 ्䵚Km@?A0 0K�0? B. -O)K]@ --�.I 0K�0? 

C. ए/@?0 .्䵌?? 0K�0? D. Aल@O ्䵚I;/0/ 0K�0? 
 

Q59. Production planning and control has four stages. Which of the following options is not one 
among them? 

 

A. Routing B. Sampling 

C. Scheduling D. Dispatching 

Q59. �/+?/) 0K�)? ? =)0�}, /O �?1 �1, :K-O :P | =)o) =?�ल㉍+ो䬂 /O 9O �L) �)/O 9O �� ):K :P ? 
 

A. 
0I/?�?+ B. ्䵚-?�00 

C. 
0I@�ू0 D. ्䵚O?+ 

 

Q60. In an industry, there are costs incurred on paying salary of support staff. What kind of cost 
it is? 

 

A. Cost of direct material B. Cost of direct labour 

C. Direct expenses D. Overhead expenses 

Q60. =�9I व㕍0?9?0 /O 9:0K?I �/र�?र10ो䬂 �K ?O-) /O)O /O ल??- ?�र :K-I :P | 0: =�9 ��?1 �ी ल??- :P ? 
 

A. ्䵚m0्䵌 /?ल �I ल?�? B. ्䵚m0्䵌 ्䵦/ ल?�? 

C. ्䵚m0्䵌 }00 D. �+91 }00 
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Q61. Which of the following elements of cost is classified as factory, selling and distribution, 
and administrative? 

 

A. Direct materials B. Direct labour 

C. Direct expenses D. Overheads 

Q61. )I�O =/� ?� ल??- �O  -/?ो䬂 /O =�9O �?1??)?, =-िी ? =?-1,, ? �??9) /O ??I�L - =�0? �?-? :P ? 
 

A. ्䵚m0्䵌 @?/्䵇I B. ्䵚m0्䵌 ्䵦/ 

C. ्䵚m0्䵌 }00 D. �+91}00 

 

Q62. Which of the following components help to control the direction, pressure and flow rate of 
the fluid in a circuit? 

 

A. Valves B. Actuator 

C. Motor D. Reservoir 

Q62. =)o) /O 9O �L)9? 
�? +र1+. /O �व㕍0 �ी =/??, /-?? ? �??: �ी /1 �K =)0�=}- �1)O /O /// �1-? :P ? 
 

A. =?ल㉍= B. �ि0?�?1� 

C. /K�1 D. �ल?>0 

 

Q63. In a piston, which component helps to avoid the noise and the potential mechanical 
damage that can result from metal-to-metal contact with end covers? 

 

A. Actuators B. Rod 

C. Cushions D. Seal material 

Q63. =�9I =+}�) /O �L)9? 
�? ?K1 ? 9�.?=?- 0?�=}� �=- 9O -�?)O /O 9:?0-? �1-? :P �K=� 
�=-/ �?1,ो䬂 9O :K)O ??लO ??-J 9O ??-J 
9�+�र  9O �/+m) :K-O :P ? 

 

A. �ि0?�?1� B. �) 

C. �I >0 D. @Iल @?/्䵇I 
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Q64. In which circuit the fluid is directed to all actuators at the same time? 
 

A. Series B. Pressure 

C. Conveyor D. Parallel 

Q64. =�9 +र1+. /O �व㕍0ो䬂 �K �� :I ?क़塍- +1 9.I =ि0?�?1�ो䬂 /O =)/O=?- =�0? �?-? :P ? 
 

A. ्䵦ृ��ल? B. .-?= 

C. ्䵚=A+I D. @/?0?�?1 
 

Q65. Identify the multi-point cutting tool from the given list. 
 

A. Turning tool B. Fly cutter 

C. Shaping tool D. Hob 

Q65. /I ?0I 9K�I /O 9O -:ु-=-m/J �?�)O ??लO �+�1,ो䬂 �ी +:�?) �1O | 
 

A. �-0ि㼂� �+�1+ B. oल?� ��1 

C. >O?+�� �+�1+ D. AI- 
 

Q66. Which of the following guidelines will you apply when designing a jig and fixture? 
 

A. They should allow the work piece to be inserted 

in multiple positions. 

B. They should allow inserting and removing of 

the work piece easily. 

C. They should be heavy and big in size to 

withstand the production process. 

D. The position of the clamping device should be 

away from the points holding the work piece. 

Q66. �- �+ �� 9??�O �1 =}.1-? �? z+?��) �1-O :ै䠂 -K �+ =)o)=ल=?- /O 9O �L) 9O =/?? =)/O?ो䬂 �K ल??K �1O?O? 
 

A. �mAे䜂 =�?  +I@ �K ?=;.m0 }-?0ो䬾 /े䜂 -0=O>0 �O  ;लए 
0I/-? 

्䵚.?0 �10I �?/Aए| 
B. �mAे䜂 =�?  +I@ �K �@?0I @O -0=O>0 = A�?0O �I 
0I/-? 

्䵚.?0 �10I �?/Aए| 

C. �mAे䜂 �m+?.0 ्䵚�ि0? �K @A0 �10O �O  ;लए �@�K -)? = 
.?1I AK0? �?/Aए| 

D. ]लै䠂?+�� �+�1+ �? }-?0 =�?  +I@ �K +�)O 1�0O =?लO 
--m.I�� @O .1ू AK0I �?/Aए| 
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Q67. Name the category under which these types of jigs fall - Template jig, Plate jig, Table jig, 
Angle plate jig and Sandwich jig. 

 

A. Channel jigs B. Closed jigs 

C. Open jigs D. Drill jigs 

Q67. �9 ्䵦O,I �? )?/ --?�0O =�9�O  
�-?र- �9 ��?1 �O  9??�O �-O :P-��?1 +्䴾 9??�?, प⩍लO� 9??�?, �O-ल 9??�?, �K,I0 प⩍लO� 9??�? ? 

9ै䠂?=?� 9??�? | 
 

A. ्䵚+?लI @??�O B. @��ृ? @??�O 

C. ?==?ृ @??�O D. ]िल @??�O 
 

Q68. Which type of gauge helps to test external diameter? 
 

A. Ring gauge B. Taper gauge 

C. Plug gauge D. Snap gauge 

Q68. =�9 ��?1 �? ?O� -?:1I व㕍0?9ो䬂 �ी �??� �1)O /O 9:?0-? �1-? :P ? 
 

A. 91�� �O� B. �O+1 �O� 

C. oल� �O� D. }0O+ �O� 

 

Q69. What is the formula to estimate die clearance required for punching mild steel? 
 

A. Material thickness x 0.20 B. Material thickness x 0.25 

C. Material thickness x 0.15 D. Material thickness x 0.30 

Q69. )1/ �}+?- �O  =��, �O  =ल� 
+O=�- 
)J/?=)- ??� �लO1Om9 _?- �1)O �? 9K} �0? :K-? :P ? 
 

A. @?/्䵇I �I /K�?� x 0.20 B. @?/्䵇I �I /K�?� x 0.25 

C. @?/्䵇I �I /K�?� x 0.15 D. @?/्䵇I �I /K�?� x 0.30 
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Q70. Ball-peen, Cross-peen, Straight-peen and Rounding are the types of which forging 
equipment? 

 

A. Chisel B. Hammer 

C. Anvil D. Fuller 

Q70. -Qल-+I), िQ9-+I), }रP�-+I) ? 1?��=?�? +I) =�9 ��?1 �O  ??)O ??लO �+�1, :ै䠂? 
 

A. ?्䵌+I B. A-L)? 

C. @m.?0 D. ,I ल1 
 

Q71. Which of the following considerations should be applied for protecting the quality of 
cutting tools? 

 

A. Use wireless ball-bar and similar tests to level 

the cutting tool. 

B. Ensure that the clamping tool is rigid enough to 

minimize vibrations during cutting process. 

C. Avoid resharpening the tool. D. Check that the lube oil reaches all areas of the 

tool. 

Q71. �?�)O ??लO ��?1ो䬂 �ी ?J,??? �K -�?)O �O  =ल� =)o) /O 9O =�9 =??O�) �K ल??K =�0? �?-? :P ? 
 

A. �?�0O =?लO ��?1ो䬾 �K @/}?1 �10O �O  ;लए =?01लO@ -Iल-

-?1 = @/z+ +1I्䵌+ �? �}?O/?ल ��0? �?0? �?/Aए | 
B. 0A @I-0���? �1 लO0? �?/Aए ]लै䠂?+�� ��?1 �?�0O �I 
्䵚�ि0? �O  @/0 �� +0K �K �/ �10O �O  ;लए �?K1 AP | 

C. ��?1 �? +I0ः?I्䵌+ 0AI� �10? �?/Aए | D. 0A �?�� लO0? �?/Aए �I }0OA� ?Pल ��?1 �O  @.I ्䵌O्䵔ो䬾 ?� 

+AI��?? AP | 
 

Q72. Identify the guidelines to follow during die inspection. 
 

A. Ensure that the fasteners are not tight. B. Inspect wear plates and cam surfaces. 

C. Remove the dowel pins, screws, springs etc. 

when dies are not used. 

D. Keep the die wet at all times. 

Q72. ??� �O  =)1I�, �O  9/0 =�) =/??=)/O?ो䬂 �? +?ल) �1)? �?=:�, �)�ी +:�?) �1O | 
 

A. 0A @I-0���? �1े䜂 �� -�/� जᱍ0?.? ?�� 0? AK | B. ?=01 oलO�ो䬾 = @?��? �I @?Aो䬾 �I -01I्䵌+ �10? �?/Aए | 

C. �- )?� �? �}?O/?ल 0? AK ?- �0/े䜂 @O )K=Oल ?+0, +े䜂�, 

�}्䵚�� �/. �K -0�?ल ले䜂 | 
D. )?� �K A1 @/0 �Iल? 1�े䜂 | 
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Q73. Identify the type of beam shown in the figure. 

 
 

A. Overhanging Beam B. Built-In-Beam 

C. Cantilever Beam D. Continuous Beam 

Q73. =/� ?� =�} /O -I/ �O  ��?1 �ी +:�?) �1O | 

 
 

A. �=1Aै䠂}��� -I/ B. --ल㉍�-�0 -I/ 

C. �े䜂 /�लI=1 -I/ D. 
0=1? -I/ 

 

Q74. Which amongst the following is NOT the feature of water tube boiler? 
 

A. The working pressure is high enough, up to 

250 bar. 

B. It requires less floor area for a given output. 

C. Water doesn't circulate in a definite direction. D. Load fluctuations can be easily handled. 
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Q74. =)o) /O 9O �L) ?Q�1 �M0K- -?0ल1 �? ल�, ):K :P ? 
 

A. �?0? �10O �O  ;लए .-?= +0??o? �चᩍ� AK?? AP, 250 bar ?� 

| 

B. ��@I /.ए �ए �m+?. �O  ;लए �/ ?ल ्䵌O्䵔,ल �?/Aए AK?? AP 
| 

C. �ल ��@I ए� -0���? /.>? /े䜂 0AI� -A?? AP | D. .?1 �O  �??1-�??= �@?0I @O @�.?लO �? @�?O Aै䠂| 
 

Q75. When the particles of a bar or disc move parallel to the axis of the shaft, then the 
vibrations are known as ____________ vibrations. 

 

A. Transverse B. Longitudinal 

C. Torsional D. Hydraulic 

Q75. �- -?1 0? =?}� �O  �, ??फ़幍� 0? 
� �O  9/?)?�-1 �ल-O :P, -K �) �� +)K �K___________ �� +) �:-O :ै䠂। 
 

A. 
0I्䵚}- B. 
0I.Po0? 

C. � +ूी0 D. �लI0 

 

Q76. Number of atoms per unit cell in face-centered cubic (fcc) is _________. 
 

A. Two B. Four 

C. Six D. Eight 

Q76. /J?-�O =m�- �) (fcc) /O �=- 9Oल ��?� +1/?,J �ी 9�_0? ________ :K-I :P | 
 

A. .K B. �?1 

C. �ः D.  

 

Q77. Heating of earth's atmosphere is an example of _______________. 
 

A. Conduction B. Convection 

C. Radiation D. Evaporation 

Q77. +Lm?I �? ??-??1, �? ?1/ :K)?__________ �? �� �/?:1, :P | 
 

A. @�=?A0 B. @�=A0 

C. ?=��1+ D. =?)+I�1+ 
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Q78. What is the unit of radius of gyration? 
 

A. Kilometer B. Millimeter 

C. Centimeter D. Meter 

Q78. +र1�ल) �O  व㕍0?9 �ी ��?� �0? :K-I :P ? 
 

A. ��लK/I�1 B. ;/लI/I�1 

C. @े䜂�I/I�1 D. /I�1 
 

Q79. Which type of cast iron amongst the following has the highest carbon content? 
 

A. Ductile Cast Iron B. Malleable Cast Iron 

C. Gray Cast Iron D. White Cast Iron 

Q79. )I�O =/� �?}� �01) �O  ��?1ो䬂 /O 9O =�9/O �?-र) �ी /?}? 9-9O 
=?� :K-I :P ? 
 

A. ?m0 �?}� �010 B. 0म⹍0 �?}� �010 

C. }लO�I �?}� �010 D. @फO . �?}� �010 

 

Q80. Which amongst the following is NOT true for thermosetting plastics? 
 

A. Thermosetting plastics have primary bonds 

between molecular chains and held together by 

strong cross links. 

B. Thermosetting plastics are synthesized by 

condensation polymerization. 

C. Thermosetting plastics have low melting point 

and low tensile strength. 

D. Thermosetting Plastic is high in molecular 

weight. 

Q80. =)o) /O 9O �L) -?+ o? प⩍ल?=}�� �O  -?1O /O 9:I ):K :P ? 
 

A. ??+ द♃? oल?�}�� /े䜂 
+I ्䵦ृ��ल? �O  -I� ्䵚?-;/� 
0I-�/ 

AK?O AP = /�-?ू िI@ ;ल�]@ @O @?- �K)O 1�? �??? AP | 
B. ??+ द♃? oल?�}�� @�्䵌O++ -AIल�I�1+ @O @��लO??? ��0? 
�??? AP | 

C. ??+ द♃? oल?�}�� �? �ल0?�� = ?00-@?/m0? -0म⹍0 AK?? 
AP | 

D. ??+ द♃? oल?�}�� �? 
+I .?1 जᱍ0?.? AK?? AP | 
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Q81. Which type of chain is shown in the figure? 

 
 

A. Curb Chain B. Cable Chain 

C. Figaro Chain D. Infinity Link Chain 

Q81. )I�O =/� ?� =�} /O =�9 ��?1 �ी ्䵦L�?ल? �K /??र0? ?0? :P? 

 
 

A. -00�-्䵔? ्䵦ृ��ल? B. �O -ल ्䵦ृ��ल? 

C. �,�?1K ्䵦ृ��ल? D. 
0�? �)I ्䵦ृ��ल? 
 

Q82. Which amongst the following is NOT true for Otto Cycle in IC engines? 
 

A. Compression ratio is less. It is 7:1 to 10:1. B. Heat addition takes place at constant pressure. 

C. Efficiency is less as compared to diesel cycle. D. Petrol engines work on this cycle. 

Q82. ��-र1� /:) ���)ो䬂 /O �्䴾K �ि �O  -?1O /O =)o) /O 9O �L) 9? 9:I ):K :P ? 
 

A. @�+Iड⅍0 
0I+?? �/ AK?? AP | 0A 7:1 @O 10:1 AK?? AP | B. �)/ @�0K�0 �}-1 .-?= +1 AK?? AP | 

C. )I�ल �ि �I ?Iल0? /े䜂 .्䵌?? �/ AK?I AP | D. +OरKल ���0 �@ �ि +1 �?/ �1?O AP | 
 

Q83. Materials that show large plastic range beyond elastic limit ____________. 
 

A. Elastic B. Elastomers 

C. Brittle D. Ductile 
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Q83. �K 9?/=्䵇0?? 
+)I  �/0?}.-? 9I/? �O  
=-र1्䴹 
=?� प⩍ल?=}�� 9I/? /??र-I :P �m:O ___________ �:? �?-? :P | 
 

A. ्䵚m0?}- B. ्䵚m0?}-ल� 

C. .��I1 D. ?m0 

 

Q84. The cutting dies are meant to cut sheet metals into blanks. What is this process called? 
 

A. Blanking Operation B. Shearing operation 

C. Drawing operation D. Bending Operation 

Q84. �=��? ??� �? �}-O/?ल �?/1I ??-J �K �?� �1 बⱍलै䠂�9 -)?)O �O  =ल� =�0? �?-? :P | �9 �=ि0? �K �0? �:? �?-? :P ? 
 

A. लK+0 @��ि0? B. �??0 @��ि0? 

C. 1O�?��0 @��ि0? D. -��0 @��ि0? 
 

Q85. ____________ is the main tool of die assembly which directly comes in contact of 
workpiece during its processing. 

 

A. Die Holder B. Punch 

C. Stops D. Pilots 

Q85. ___________ ??� 9�0K�) �? /J_0 ��?1 :K-? :P �K �9�}�1, �O  9/0 ?�र +I9 9O 9I?O -L1 +1 9�+�र  /O �-O :P | 
 

A. )?� AKल㉍)1 B. +�� 

C. }�Io@ D. +?0लटὍ@ 

 

Q86. Which press is suitable for fitting, assembling, punching and embossing very thin sheets 
below 1 mm thickness? 

 

A. Hydraulic Press B. Hand Press 

C. Mechanical Press D. Pneumatic Presses 
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Q86. 1mm 9O �/ /K�?� ??लI �?/1ो䬂 �O  =?=��?, 
9Oo-=ल�?, +�=��? ? �o-Q=9�? �O  =ल� �L)9I �O9 �+0J्䴹 :K-I :P ? 
 

A. ्䵖= �?;ल? ्䵚O@ B. APo) ्䵚O@ 

C. 0?�-्䵔� ्䵚O@ D. =?0=I0 ्䵚O@ 

 

Q87. Which of the following presses is used for heavy duty work, such as, forging? 
 

A. Hydraulic Press B. Hand Press 

C. Mechanical Press D. Pneumatic Presses 

Q87. =)o) /O 9O =�9 �O9 �? �}-O/?ल 
/0=?� /-?? ??लO �?/ �P9O �ी ??) �O  =ल� =�0? �?-? :P ? 
 

A. ्䵖= �?;ल? ्䵚O@ B. Aै䠂) ्䵚O@ 

C. 0?�-्䵔� ्䵚O@ D. =?0=I0 ्䵚O@ 

 

Q88. Which of the following statement is NOT true about cutting clearance? 
 

A. Cutting clearance is the gap between a side of 

the punch and the corresponding side of the die 

opening when the punch is entered into the die 

opening. 

B. Cutting clearance should always be expressed 

as the amount of clearance per corner. 

C. Proper cutting clearance is necessary for the 

longer life of the tool. 

D. Cutting clearance will affect the quality of the 

piece part. 

Q88. =)o) /O 9O �L)9? �.) �=��? �लI01O9 �O  -?1O /O 9:I ):K :P ? 
 

A. �/��� ]लI01े䜂@ +�� �I @?�) = )?� �O  /I� =?लI @?�) �O  
-I� �I .1ूI AK?I AP �K ?- -0?I AP �- +�� )?� �O  /I� /े䜂 ्䵚=O> 

�1?? AP | 

B. �/��� ]लI01े䜂@ �K ्䵚-? �K0? ]लI01े䜂@ �I /?्䵔? �O  z+ /े䜂 
}0]? ��0? �??? AP | 

C. �}�? �/��� ]लI01े䜂@ ��?1 �I ल�-I �0I �O  ;लए �y1I 
AK?I AP | 

D. �/��� ]लI01े䜂@ +I@ �O  .?� �I �I+=्䵈? �K ्䵚.??=? �1O�? 
| 
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Q89. ____________ is a tool which holds the work piece with the machine bed precisely at the 
desired location. 

 

A. Jigs B. Fixtures 

C. Clamp D. Press 

Q89. ____________ ?: ��?1 :K-? :P �K ?�र  +IOO9 �K /?I) -O? 9O �=चᩍ�- }.?) +1  I� -1: 9O �K=O 1?-? :P | 
 

A. @??�O B. �K) 

C. ]लै䠂+ D. ्䵚O@ 

 

Q90. According to the principle of locations, the total degree of freedom of a body along which 
it can move is _____. 

 

A. 4 B. 8 

C. 6 D. 9 

Q90. }.?)ो䬂 �O  =9्䵍?�- �O  
)J9?1, =�9I ?}-J �ी }??-�ቔ咚0 �K=� =�9�O  9/?)?m-1 ?: �ल 9�-? :P ______ :K-I :P | 
 

A. �?1 B.  

C. �ः D. 0L 
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